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सामा�य नि��श :  

न���न�नित न���श� को बह�त सावधा�ी से पन�ए और उ�का स�ती से पा�� क�न�ए :  

(i) इस �� �-प� म� 38 �� � ह� । सभी �� � अनिवाय� ह� । 

(ii) �ह �� �-प� पा�च ि�ड� म� नवभान�त है – क, ख ग, घ एवं ङ । 

(iii) ख�ड क म� �� � सं��ा 1 से 18 तक बह�नवक�पी� (MCQ) तथा �� � सं��ा 19 एवं 20 
अनभकथ� एवं तक�  आधा�रत 1 अंक के �� � ह� । 

(iv) ख�ड ख म� �� � सं��ा 21 से 25 तक अनत �घ-ुउ�री� (VSA) �कार के 2 अंक� के �� � ह� । 

(v) ख�ड ग म� �� � सं��ा 26 से 31 तक �घ-ुउ�री� (SA) �कार के 3 अंक� के �� � ह� । 

(vi) ख�ड घ म� �� � सं��ा 32 से 35 तक �ीघ�-उ�री� (LA)  �कार के 5 अंक� के �� � ह� । 

(vii) ख�ड ङ म� �� � सं��ा 36 से 38 तक �करण अ���� आधा�रत 4 अंक� के �� � ह� । �� �ेक 
�करण अ� ��� म� आंत�रक नवक� प 2 अंक� के �� � म� न� �ा य�ा है । 

(viii) �� �-प� म� सम� नवक�प �ह� न��ा य�ा है । ��नप, ि�ड ि के 2 �� �� म�, ि�ड य के  
2 �� ��  म�, ि�ड घ के 2 �� �� म� तथा ि�ड ङ के 3 �� �� म� आंत�रक नवक�प का �ावधा� 
न��ा य�ा है । 

(ix) �हा� आव� �क हो p = 
7
22  �ीन�ए, �न�  अ� �था � न��ा य�ा हो । 

(x) कै�कु�ेटर का उप�ोय वनज�त है । 

ख�‍ड क 

इस ि� ड म� बह�नवक� पी� �� � (MCQ) ह�, न��म� �� �ेक �� � 1 अंक का ह ै। 

1. 243 के अभ�� य गणुनख� डन �� � क� ा�� ै� � 

(A) 2 (B) 3 

(C) 4 (D) 5 
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General Instructions : 
Read the following instructions very carefully and strictly follow them : 
(i) This question paper contains 38 questions. All questions are compulsory.  
(ii) This question paper is divided into five Sections – A, B, C, D and E.  
(iii) In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) 

and questions number 19 and 20 are Assertion-Reason based questions of  
1 mark each.  

(iv) In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type 
questions, carrying 2 marks each.  

(v) In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions, 
carrying 3 marks each. 

(vi) In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions 
carrying 5 marks each.  

(vii) In Section E, Questions no. 36 to 38 are case study based questions carrying 
4 marks each. Internal choice is provided in 2 marks questions in each case 
study. 

(viii) There is no overall choice. However, an internal choice has been provided in 
2 questions in Section B, 2 questions in Section C, 2 questions in Section D 
and 3 questions in Section E. 

(ix) Take p = 
7
22  wherever required, if not stated.   

(x) Use of calculator is not allowed.  

SECTION A 

This section comprises Multiple Choice Questions (MCQs) of 1 mark each. 

1. The exponent of 3 in the prime factorisation of 243 is : 

(A) 2 (B) 3 

(C) 4 (D) 5 
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2. ब �ैपद x2 + 5x + 6 के श�ू यक ै�  : 

(A) 2, 3 (B) 3, – 2 

(C) – 3, – 2 (D) – 3, 2 

3. य�द  ��ा�� ब �ैपद 5x2 + 7x + k के श�ू यक� क� गणुनल� 
2
5  ै�, �ो k क� ��न ै� : 

(A) – 2  

(B) 3 

(C) 5  

(D) 2 

4. स�ीकरण य�ु � x = 3 �थ� y = – 2 क� आ�ेख �� न रेख�ं� को �न��प� कर�� ै�, वै :  

(A) स�प��ी ै� 

(B) स����र ै� 

(C) �ब �द ु(3, – 2) पर ����छेद कर�ी ै�  

(D) �ब �द ु(– 3, 2) पर ����छेद कर�ी ै� 

5. 3x – y – 1 = 0 ��र� �न ��प� रेख� के उस �ब�द,ु �� सक� y-�नद�श��क 5 ै�, क� x-�नद�श��क 
ै� � 

(A) – 2  

(B) 2 

(C) 5  

(D) – 5 
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2. The zeroes of the polynomial x2 + 5x + 6 are : 

(A) 2, 3 (B) 3, – 2 

(C) – 3, – 2 (D) – 3, 2 

3. If the product of the zeroes of the quadratic polynomial 5x2 + 7x + k is 

2
5 , then the value of k is : 

(A) – 2  

(B) 3 

(C) 5  

(D) 2 

4. The pair of equations x = 3 and y = – 2 graphically represent lines which 
are :  

(A) coincident  

(B) parallel 

(C) intersecting at (3, – 2)  

(D) intersecting at (– 3, 2) 

5. The x-coordinate of the point which lies on the line represented by  
3x – y – 1 = 0 and whose y-coordinate is 5, is : 

(A) – 2  

(B) 2 

(C) 5  

(D) – 5 
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6. �न� न���ख� स�ीकरण� �� �कस एक के व�� ��वक ��ू िह�  ै� ? 

(A) x2 – 2x – 2 3  = 0  

(B) x2 – 4x + 4 2  = 0 

(C) 3x2 + 4 3 x + 3 = 0  

(D) x2 – 4x – 2 2  = 0 

7. स����र �ेढी ��सके �थ� दो पद ��श� – 5 और 2 ै�, क� 8व�� पद ै� : 

(A) – 54 (B) 44 

(C) – 61 (D) – 33 

8. �ब �द ु(– 4, 7) क� y-अ� से दरूी ै� : 

(A) 4 (B) – 4 

(C) 7 (D) 65  

9. x-अ� के उस �ब �द,ु �ो �ब �दुं � (– 2, 5) �थ� (2, – 3) से स�दरू� थ ै�, के �नद�श��क ै� : 

(A) (– 5, 0) (B) (– 3, 0) 

(C) (– 4, 0) (D) (– 2, 0) 

 

10. य�द  �ब �दुं � (3a, 4) �थ� (– 2, 2b) को ����ने व��े रेख�ख� ड क� �� य-�ब �द ु(5, a) ै�, 

�ो 

(A) a = 2, b = 5 (B) a = 4, b = 2 

(C) a = 3, b = 4 (D) a = 5, b = 8 
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6. Which one of the following equations does not  have real roots ? 

(A) x2 – 2x – 2 3  = 0 

(B) x2 – 4x + 4 2  = 0 

(C) 3x2 + 4 3 x + 3 = 0 

(D) x2 – 4x – 2 2  = 0 

7. The 8th term of an A.P., whose first two terms are – 5 and 2 respectively, 
is : 

(A) – 54 (B) 44 

(C) – 61 (D) – 33 

8. The distance of (– 4, 7) from y-axis is : 

(A) 4 (B) – 4 

(C) 7 (D) 65  

9. The coordinates of a point on the x-axis, which is equidistant from  
(– 2, 5) and (2, – 3) are : 

(A) (– 5, 0) (B) (– 3, 0) 

(C) (– 4, 0) (D) (– 2, 0) 

10. If the coordinates of the mid-points of the line joining the points (3a, 4) 
and (– 2, 2b) are (5, a), then 

(A) a = 2, b = 5 (B) a = 4, b = 2 

(C) a = 3, b = 4 (D) a = 5, b = 8 
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11. एक �ब �द ुP, �ो 8 cm ��� य� व��े व�् के के� � O से 17 cm क� दरूी पर ै�, से व�् पर PQ 

�थ� PR दो � पश�-रेख�ए� ख�ची गई ै� । D OPQ क� �े�ल� ै� : 

(A) 120 sq cm (B) 68 sq cm 

(C) 60 sq cm (D) 127·5 sq cm  

12. 
qeccos

1 , (0 £ q £ 90°) क� अ�िक�� ��न ै� � 

(A) 
2
3

 (B) 1 

(C) 
2

1
 (D) 2  

13. य�द  cosec B = 
3

2
 ै� �थ� A + B = 90° ै�, �ो sec A क� ��न ै�  � 

(A) 
3

2
 (B) 2  

(C) 
2
3

 (D) 2 

14. 50 छ��� ��र� एक परी�� के ��� ���क नीचे क� स�रणी �� �द ए ै�  : 

��� ���क : 0 – 15 15 – 30 30 – 45 45 – 60 60 – 75 

छ��� क� स�� य� : 3 9 20 15 3 

 45 से क� अ�क ��� � करने व��े छ��� क� स�� य� ै�  : 

(A) 12 (B) 47 

(C) 32 (D) 18 
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11. From a point P which is at a distance of 17 cm from the centre O of a 
circle of radius 8 cm, the pair of tangents PQ and PR to the circle are 
drawn. The area of triangle OPQ is : 

(A) 120 sq cm (B) 68 sq cm 

(C) 60 sq cm (D) 127·5 sq cm 

12. The maximum value of 
qeccos

1 , (0 £ q £ 90°) is : 

(A) 
2
3

 (B) 1 

(C) 
2

1
 (D) 2  

13. If cosec B = 
3

2
 and A + B = 90°, then the value of sec A is : 

(A) 
3

2
 (B) 2  

(C) 
2
3

 (D) 2 

14. The marks obtained by 50 students in a test are tabulated below : 

Marks : 0 – 15 15 – 30 30 – 45 45 – 60 60 – 75 

Number of students : 3 9 20 15 3 

 The number of students who got less than 45 marks is : 

(A) 12 (B) 47 

(C) 32 (D) 18 
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15. दो ब� च� व��े एक प�रव�र �� अ�िक-से-अ�िक एक ��क� ैोने क� ���यक�� ै� � 

(A) 
4
3  (B) 2

1  

(C) 
4
1

 (D) 1 

16. दो प�से एक स�थ उछ��े गए । दोन� प�स� पर स��न स�� य� आने क� ���यक�� ै� : 

(A) 
6
1   

(B) 
6
5  

(C) 
36
5

  

(D) 
36
7  

17. �थ� नौ अभ�� य स�� य�ं � क� ��� यक ै� : 

(A) 7  

(B) 11 

(C) 13  

(D) 17 

18. एक ठोस क� आि�र अि�गो��क�र ै� �थ� उसके ऊपर  क� भ�ग (उसी ��� य� क�) 
श�� व�क�र ै� । य�द  दोन� भ�ग� के व� प�् ठीय �े�ल� स��न ै�, �ो इसक� ��� य� �थ� 
श�� व�क�र भ�ग क� ऊ� च�ई क� अनपु�� ै� � 
(A) 1 : 3 (B) 3 : 1 

(C) 3  : 1 (D) 1 : 3  
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15. In a family of two children, the probability of having at most one boy,  
is : 

(A) 
4
3  (B) 2

1  

(C) 
4
1

 (D) 1 

16. Two dice are thrown together. The probability of getting the same 

number on both dice, is : 

(A) 
6
1  

(B) 
6
5  

(C) 
36
5  

(D) 
36
7  

17. The median of the first nine prime numbers is : 

(A) 7 
(B) 11 
(C) 13 
(D) 17 

18. A solid is hemispherical at the bottom and conical above (of same 
radius). If the curved surface areas of the two parts are equal, then the 
ratio of its radius and the height of the conical part is  
(A) 1 : 3 (B) 3 : 1 

(C) 3  : 1 (D) 1 : 3  
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�� � सं��ा 19 और 20 अनभकथ� एवं तक�  आधा�रत �� � ह� । �ो कथ� न�ए यए ह� न��म� एक को 

अनभकथ� (A) तथा �सूरे को तक�  (R) �ारा अंनकत नक�ा य�ा ह ै । इ� �� �ो के सही उ�र �ीचे 
न�ए यए कोड� (A), (B), (C) और (D) म� से च�ुकर �ीन�ए ।   

(A) अ�भकथन (A) और �क�  (R) दोन� सैी ै� और �क�  (R), अ�भकथन (A) क� 
सैी �य��य� कर�� ै� ।  

(B) अ�भकथन (A) और �क�  (R) दोन� सैी ै�, पर�� ु�क�  (R), अ�भकथन (A) क� 
सैी �य��य� िह� कर�� ै� । 

(C) अ�भकथन (A) सैी ै�, पर�� ु�क�  (R) ��� ै� ।   

(D) अ�भकथन (A) ��� ै�, पर�� ु�क�  (R) सैी ै� ।  

 

19. अनभकथ� (A) : य�द  दो गो�� के प�्ीय �े�ल�� �� 16 � 9 क� अनपु�� ै�, �ो उनके 

आय�न� �� 64 � 27 क� अनपु�� ैो�� ै� ।    

 तक�  (R) : य�द  दो गो�� के प�् ठीय �े�ल� S1 और S2 �थ� आय�न ��श� 

V1 और V2 ै�, �ो 
2

1
V

V
 = 

2/3

2

1
S
S
÷
÷

ø

ö

ç
ç

è

æ
. 

 

20. अनभकथ� (A) : 52‍��श के प�� क�, अ� छी �रै से ल� टी गई, एक गड�डी �� से एक 
प�� य��� छय� �नक��ने पर एक ��� र�ग क� �� वीर व��े प�े के 

आने क� ���यक�� 
26
3
 ै� ।  

 तक�  (R) : 52‍��श के प�� क� गड�डी �� 16 �� वीर व�� ेप�े ैो�े ै� । 
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Questions number 19 and 20 are Assertion and Reason based questions. Two 
statements are given, one labelled as Assertion (A) and the other is labelled as 
Reason (R). Select the correct answer to these questions from the codes (A), 
(B), (C) and (D) as given below.  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 
correct explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 
the correct explanation of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true.  

 

 

19. Assertion (A) : If surface areas of the two spheres are in the ratio 16 : 9, 
then their volumes are in the ratio 64 : 27. 

 Reason (R) : If S1 and S2 are the surface areas of two spheres and V1 

and V2 are their volumes respectively, then  

   
2

1
V

V
 = 

2/3

2

1
S
S
÷
÷

ø

ö

ç
ç

è

æ
. 

20. Assertion (A) : The probability of drawing a red face card, at random, 

from a well-shuffled pack of 52 playing cards is 
26
3

. 

 Reason (R) : The number of face cards in a pack of 52 playing cards 
is 16. 
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ख�ड‍ख 

Bg IÊS> _| A{V bKw-CÎmar` (VSA) àH$ma Ho$ àíZ h¢, {OZ_| àË òH$ àíZ 2 A§H$m| H$m 
h¡ & 

21. (a) य�द cos q = 
5
3  ै�, �ो  q q

q q

–
+

tan sin
cosec cot

 क� ��न ��� क���ए ।  

 अथवा 

(b) q = 30° के ��ए स� य��प� क���ए �क cos 2q = cos2 q – sin2 q. 

22. एक D PQR क� भ�ु�ं� PQ �थ� PR पर ��श� �ब�द ु E �थ� F इस �क�र ै� �क       

EF y QR ै� । य�द PE = 2·5 cm, PQ = 6 cm �थ� PF = 4·5 cm ै�, �ो RF �थ� 

PR क� ��ब�इय�� ��� क���ए ।   

23. (a) एक अन�भन� प�स� एक ब�र उछ��� गय� । �न� न के ��� � करने क� ���यक�� ��� 

क���ए :  

  (i) एक � से ब�ी स�� य� । (ii) एक स� अभ�� य स�� य� ।   
 अथवा 

(b)  एक ब� से �� 5 ���, 8 सलेद �थ� 4 ैरे क� चे ै� । ब� से �� से य��� छय� एक क� च� 

�नक��� गय� । �न� न क� ���यक�� ��� क���ए �  

 (i) एक सलेद क� चे के ��� � ैोने क� । (ii) एक ैरे क� चे के न ��� � ैोने क� ।  

24. वै ब�ी-से-ब�ी स�� य� ��� क���ए �ो 65 �थ� 117 दोन� को पणू��य� �वभ���� करे ।  

25. �न� न र��खक स�ीकरण य�ु � क� ै� ��� क���ए �  

 2x + 3y = 12;  x – 2y = – 1 
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SECTION B 
This section comprises Very Short Answer (VSA) type questions of  
2 marks each.  

21. (a) If cos q = 
5
3 , find the value of  q q

q q

–
+

tan sin
cosec cot

. 

 OR 

(b) For q = 30°, verify that cos 2q = cos2 q – sin2 q. 

22. E and F are points on the sides PQ and PR respectively of a D PQR and 

EF y QR. If PE = 2·5 cm, PQ = 6 cm and PF  = 4·5 cm, find the lengths 

of RF and PR. 

23. (a) An unbiased die is thrown once. Find the probability of getting  

(i) a number greater than 3 (ii) an even prime number.  
 OR 

(b) A box contains 5 red, 8 white and 4 green marbles. One marble is 

drawn from the box at random. Find the probability of (i) getting a 

white marble (ii) not getting a green marble.  

24. Find the greatest number which divides 65 and 117 completely. 

25. Solve the following pair of linear equations : 

 2x + 3y = 12;  x – 2y = – 1 
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ख�‍ड‍ग 

इस ि� ड म� 6 �� � ह� । �� �के �� � के 3 अंक ह� ।  

26. (a) 2-अ�क� क� एक स�� य� के अ�क� क� गणुनल� 18 ै� । इस स�� य� �� से 27 ाट�ने 
पर अ�क� के � थ�न पर� पर प�ट ���े ै� । स�� य� ��� क���ए ।   

  अथवा 

(b) दो स�� य�ए� 5 : 6 के अनपु�� �� ै� । य�द �� येक स�� य� �� से 8 ाट� �दय� ��ए, �ो 
इन�� 4 : 5 क� अनपु�� ैो ���� ै� । स�� य�ए� ��� क���ए ।   

27. �स� क���ए : 

 
qq

qq

+
++

sin–cos1
sincos1  = 

q

q+
cos

sin1  

28. एक व�् एक ��भ�ु ABC क� भ�ु� BC को P पर � पश� कर�� ै� �थ� बढी �ैई भ�ु�ं� 
AB �थ� AC को ��श� Q �थ� R पर � पश� कर�� ै� । �स� क���ए �क  
AQ = 2

1  (AB + BC + AC). 

29. एक 16 cm ऊ� च�ई �थ� 12 cm ��� य� व��े ठोस श�कु �� से 3 cm ऊ� च�ई �थ� 4 cm 

��� य� व��ी श�� व�क�र क�ट इस �क�र �नक��ी गई �क श�कुं � के आि�र स�क� �ीय व�् 
बन��े ै� । शेष बचे �ैए ठोस क� स� पणू� प�् ठीय �े�ल� ��� क���ए ।  

30. �स� क���ए �क (3 + 2 5 ) एक अप�र�ेय स�� य� ै�, �ब�क �दय� गय� ै� �क 5  एक 

अप�र�ेय स�� य� ै� ।  

31. (a) य�द P(x, y), �ब�दुं � A(7, 1) �थ� B(3, 5) से स�दरू� थ ै�, �ो x �थ� y �� 

स�ब�ि ��� क���ए ।  

 अथवा  

(b) �ब�दुं � A(2, – 2) �थ� B(– 7, 4) को ����ने व��� रेख�ख� ड क� ��भ��न 
करने व��े �ब�दुं � के �नद�श��क ��� क���ए ।  
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SECTION C 

This section comprises Short Answer (SA) type questions of 3 marks each. 

26. (a) The product of the digits of a 2-digit number is 18. When 27 is 
subtracted from the number, the digits interchange their places. 
Find the number. 

 OR 

(b) Two numbers are in the ratio 5 : 6. If 8 is subtracted from each of 
the numbers, the ratio becomes 4 : 5. Find the numbers. 

27. Prove that : 

 
qq

qq

+
++

sin–cos1
sincos1  = 

q

q+
cos

sin1  

28. A circle is touching the side BC of D ABC at P and touching the  

sides AB and AC produced at Q and R respectively. Prove that  

AQ = 2
1  (AB + BC + AC). 

29. From a solid cone, whose height is 16 cm and radius 12 cm, and conical 

cavity of height 3 cm and base radius 4 cm is hollowed out such that the 
bases of the cones form concentric circles. Find the total surface area of 
the remaining solid. 

30. Prove that (3 + 2 5 ) is an irrational number, given that 5  is an 
irrational number. 

31. (a) Find the relation between x and y such that the point P(x, y) is 
equidistant from the points A(7, 1) and B(3, 5). 

 OR 

(b) Find the coordinates of the points of trisection of the line segment 
joining the points A(2, – 2) and B(– 7, 4). 
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ख�‍ड‍घ  
 

Bg IÊS> _| XrK©-CÎmar` (LA) àH$ma Ho$ àíZ h¢, {OZ_| àË òH$ àíZ 5 A§H$m| H$m h¡ &  

32. �स� क���ए �क �कसी व�् पर एक ब�� �ब�द ुसे ख�ची गई � पश�-रेख�ं� क� ��ब�इय�� 

स��न ैो�ी ै� ।  

33. भ�ू� के एक �ब�द ुसे एक 25 m ऊ� चे भवन के �शखर पर �गी एक स�च�र �ीन�र के �� 

और �शखर के उ� नयन कोण ��श� 30° और 60° ै� । स�च�र �ीन�र क� ऊ� च�ई ��� 

क���ए । [ 3  = 1·732 ��]  

34. (a) 300 और 700 के बीच ��थ� 9 के सभी गणु�� क� योगल� ��� क���ए ।  

  अथवा‍ 

(b) एक स����र �ेढी क� 26व�� पद, 11व�� पद �थ� आ�खरी पद ��श� 0, 3 �थ�  

– 
5
1  ै� । स����र �ेढी क� स�व� अ��र �थ� कु� पद� क� स�� य� ��� क���ए ।  

35. (a) 7 cm ��� य� व��े एक व�् के �कसी ��� यख� ड क� प�र��प 25 cm ै� । 

��� यख� ड क� �े�ल� ��� क���ए ।   

 अथवा‍ 

(b) ��� य� 35 cm व��े एक व�् क� कोई च�प व�् के क� � पर 90° क� कोण अ���र� 

कर�� ै� । स�ग� �ीव� ��र� बने �ा ुव�्ख� ड क� �े�ल� ��� क���ए । 
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SECTION D 

This section comprises Long Answer (LA) type questions of 5 marks each. 

32. Prove that the lengths of tangents drawn from an external point to a 

circle are equal. 

33. From a point on the ground, the angles of elevation of the bottom and the 

top of a transmission tower fixed at the top of a 25 m high building are 

30° and 60° respectively. Find the height of the transmission tower.  

[Use 3  = 1·732]  

34. (a) Find the sum of all multiples of 9 lying between 300 and 700. 

 OR 

(b) The 26th, 11th and the last term of an A.P. are 0, 3 and – 
5
1  

respectively. Find the common difference and the number of terms 

of the A.P. 

35. (a) The perimeter of a sector of a circle of radius 7 cm is 25 cm. Find 

the area of the sector. 

 OR 

(b) In a circle of radius 35 cm, an arc subtends an angle of 90° at the 

centre. Find the area of the minor segment formed by the 

corresponding chord. 
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ख�‍ड‍ङ 

इस ि� ड म� 3 �करण आधा�रत �� � है न��म� �� �ेक के 4 अंक ह� ।  

àH$aU AÜ``Z – 1 

36. अशोक �थ� ैरीश अ� छे ��� ै� । उ� ै �ने अपनी-अपनी क�र� �� अपने प�रव�र के स�थ 
��बी य��� पर ��ने क� �नण�य ��य� । अशोक क� क�र क� च�� x km/h ै�, �ब�क ैरीश 
क� क�र क� च��, अशोक क� क�र क� च�� से 5 km/h अ�िक ै� । 400 km क� य��� 
को परू� करने �� अशोक ने ैरीश से 4 ा�टे अ�िक ��ए ।  

 उपयु�� � ��नक�री के आि�र पर, �न� न �� न� के उ�र दी��ए �  
(i) ैरीश क� क�र ��र� 2 ा�ट� �� �य क� गई दरूी (x के पद� ��) ��� क���ए ।  1 
(ii) अशोक क� क�र क� च�� से स�ब��ि� ��ा�� स�ीकरण बन�इए ।  1 
(iii) (a) अशोक क� क�र क� च�� (km/h ��) ��� क���ए ।   2 

 अथवा 
(b) ैरीश क� क�र क� च�� (km/h ��) ��� क���ए ।   2 

àH$aU AÜ``Z – 2 

37. दो �व�भ� न अ� प���� �� भ�� �कए गए �री�� क� आय ुक� ब�टन नीचे �दय� गय� ै� �  
आय ु(वष� ��) : 5 – 15 15 – 25 25 – 35 35 – 45 45 – 55 55 – 65 
अ� प��� I �� भ�� �कए 
गए �री�� क� स�� य� : 6 11 21 23 14 5 

अ� प��� II �� भ�� �कए 
गए �री�� क� स�� य� : 8 16 32 10 24 12 

उपयु�� � ��नक�री के आि�र पर, �न� न àíZm| के उ�र दी��ए �   

(i) अ� प��� I ��, ब �ै�क वग� क� ऊपरी सी�� � य� ै� ?  1 

(ii) अ� प��� II ��, ब �ै�क वग� क� �नच�ी सी�� � य� ै� ? 1 

(iii) (a) अ� प���-I के आ�क�� क� ब �ै�क ��� क���ए ।  2 
 अथवा 

(b) अ� प���-II के आ�क�� क� ब �ै�क ��� क���ए ।   2 
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SECTION E 

This section comprises 3 case study based questions of 4 marks each. 

Case Study – 1 

36. Ashok and Harish are very close friends. They decided to go on a long 
drive with their families in separate cars. Ashok’s car travels at a speed 
of x km/h,  while Harish was driving the car at a speed of 5 km/h faster 
than Ashok’s car. Ashok took 4 hours more than Harish to complete the 
journey of 400 km. 

 Based on the above information, answer the following questions : 
(i) Find the distance covered by Harish’s car in two hours  

(in terms of x). 1 
(ii) Make a quadratic equation describing the speed of Ashok’s car. 1 
(iii) (a) Find the speed of Ashok’s car (in km/h). 2 

 OR 
(b) Find the speed of Harish’s car (in km/h). 2 

Case Study – 2 

37. The following table shows the age distribution of patients admitted 

during a day in two different hospitals :  
Age (in years) : 5 – 15 15 – 25 25 – 35 35 – 45 45 – 55 55 – 65 
Number of Patients 
admitted in Hospital I : 6 11 21 23 14 5 

Number of Patients 
admitted in Hospital II : 8 16 32 10 24 12 

Based on the above information, answer the following questions : 
(i) In Hospital I, what is the upper limit of modal class. 1 
(ii) In Hospital II, what is the lower limit of modal class. 1 
(iii) (a) Find the mode of the data of Hospital I. 2 

 OR 
(b) Find the mode of the data of Hospital II. 2 
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àH$aU AÜ``Z – 3 

38. सकेुश के ार के �पछ�े �ै� से �� एक ब�ग ै� ��स�� पे� �थ� लू�� के पौिे �गे ै� । एक 

�दन भ�री ब��रश और �लू�न के क�रण एक पे� बीच �� टूट कर कुछ इस �रै �गर� �क पे� 
के �बन� टूटे भ�ग क� ऊ� च�ई 15 m रै गई �थ� दसूर� भ�ग (ऊपर क�) भ�ू� को पे� के �� 
से 20 m दरू पर � पश� करने �ग� ।  

 उपयु�� � ��नक�री के आि�र पर, �न� न àíZm| के उ�र दी��ए �   

(i) पे� के टूटे �ैए भ�ग क� ��ब�ई ��� क���ए ।  1 

(ii) परेू पे� क� ऊ� च�ई �क�नी थी ? 1 

(iii) (a) इस �क�र बने ��भ�ु क� प�र��प ��� क���ए ।  2 

 अथवा 

 (b) इस �क�र बने ��भ�ु क� �े�ल� ��� क���ए ।  2 
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Case Study – 3 

38. Sukesh is having a garden at the back of his house with trees and flower 
plants. One day, due to heavy rain and storm, one of the trees  broke such 
that the height of unbroken part is 15 m and the broken part of the tree 
bends and touches the ground at 20 m away from the base of the tree.  

 Based on the above information, answer the following questions : 

(i) Find the length of the broken part of the tree. 1 

(ii) What was the height of the full tree ? 1 

(iii) (a) Find the perimeter of the triangle formed. 2 

 OR 

(b) Find the area of the triangle formed. 2 

 


